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SECTION-A
i) General Awareness
1. InIndia, the power to amend the 5. What is the name of the most ancient

Constitution vest in type of molecule in our universe
(A) President discovered by the scientist recently ?
(B) Suprerq_e Court (A) Helium Hydride ion
(C) Parliament (B) Sodium carbonate ion

(D) None of the above (C) Helium bicarbonate ion

2. Which of the following infection by the (D) None of the above
fungus emerged around the world as a
Drug Immune fungal infection ?

(A) Candida auris infection
(B) Tinea corporis (Ring worms)

6. What is “Deng Vaxia” which is
reCéntly in news ?

(A) First vaccine approved by FDA for

infection prevention of dengue disease
(C) Tinea pedis (athlete’s foot) (B) A joint military exercise between
infection Djibouti and Denmark
(D) None of the above ) (C) Whichis a recently Oscar awarded
movie

3. The main aim of ‘Sendai framewafk’

N
of United Nations is (D) None of the above

(A) Disaster Risk Reduction 7. Which of the following rivers are west
(B) Bans the usage of bialogical flowing rivers of Peninsular India ?
weapons

(A) Narmada and Tapti

(B) Godavari and Krishna
(C) Cauvery and Mahanadi
(D) None of the above

(C) Bans the usage of-¢hemical and
nuclear weapons

(D) None of the'above

4. Which of the felfdwing country recently
declared axclimate emergency and | 8. World day of water will be celebrated

became the-sécond country to declare every year on
the same ? (A) March 22
(A) lreland (B) March 3
(B) Russia

(C) September 22
(C) Japan

(D) None of the above (D) None of the above
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i) AHFE AT

1. WRa & dfyym ° gmeq $ ufe e
fifkag?
(A) Tfd

2. Fmafafaa & & #F-w1 whe = TR
fava % wah afinftr wiatiers Wt W &
U 39 7
(A) hfser i dshuon
(B) Tefan widife (et ftr) Tepmur
(C) fefan vfew (vuriie Fe) wsrmm
(D) I H U i3 TEl

3. TYH TY §Y & U< FATH B ARG

fafafaa g awng ? _

(A) 3M9ET ey T2MT

(B) Stferep el o wenT W I~

(C) iR 7R TaTa e BR—w o Jam
T

(D) 3% T A HE TR

4, o o 3T STy STaeRTe v
o S e e T e AT e 2
TR ?

(A) IS

(B) &

(C) WuH

(D) A A HIE T

5. & g o agTenl 4 BN sene § waifteh

QU FehT 3 3TU] <H1 WIS © | 36 9
TS ?

(A) Eiferm BReEe 3RE
(B) @feTm FHEHe A
(C) Bferam SIS STRH
(D) 3o | & I3 e

|

.S AfREr F R, S A € 6 e o

off ?
(A ST hl T &g THET 5T
N rEifed wew e

(B) Tt 3kt e & <fw Tgw &

T
(C) 1t & H TRt qreahr farsiar fher
(D) 3o o & S T

. W g @ frefafed § | SR-

feat ofeem & SR Tt € 7
(A) e S AT

(B) TrerarY i

(C) Fralt 3T AR

(D) 3o H ¥ HIE Tl

; uﬁaﬁﬁﬁawﬁaﬁwwm%?

(A) T 22

(B) € 3

(C) foae 22

(D) SFHAAHETE


https://www.freshersnow.com

i

9.

10.

11.

“Union Executives” consists of which of

the following ?
(A) Council of Ministers only

(B) President, Vice President and
Council of Ministers with the

- Prime Minister
(C) President and Vice President only

(D) None of the above

Which of the following river described

as the lifeline of the State Goa ?
(A) Mahadayi

(B) Krishna

(C) Godavari

(D) None of the above

\ ¢
!

What is “Akademik Lomenasov” which

is recently in news ?

(A) World's first floating nuclear plant

(B) Itis an endangered species of
South-Affica

(C) “International book festival” which
will be held at Dublin

(D) None of the above

12.

13.

14,

<
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Which of the following statement/s is/
are true about Arctic Council ?

(A) Russiais the Founding Member of
Arctic Council

(B) Which is a 7 member grouping of
nations that have territories of the
Arctic

(C) Recently India has been reelected
as an observer to the Arctic
Council

(D) None of the above

@

India’s climate is affected by which of
the’following seasonal winds ?

~fA) North east monsoon

(B) South west monsoon
(C) Both (A) and (B)

(D) None of the above

Which of the following statement given
below is true regarding the term of the
Lok Sabha ?

(A) The term of the Lok Sabha, unless
dissolved earlier is six years from
the date appointed for its first
meeting

(B) While a proclamation of emergency
is in operation, this period may not
be extended by parliament bylaw

(C) Both (A) and (B) are false

(D) Both (A) and (B) are true
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10.

11.

‘Sl e’ freferfiea # @ Tl

fierR s 2 ?

(A) Had wEHaReg

(B) Tregafe, Il 3R yur wiea
Tftafg

(C) et ety 3ik Iwrfy

(D) 3o H & IS AL

Frafefas # @ feg = =7 Mem Tw it
e Fed § 7

D) 3% H Y =g TE

T € ¥ g 6 @ s
AmEEe e ? N
(A) Wwwmmm

(B) %a&wmﬁmﬁ@m

C) i G Scqa Sl Selferd H
arm

(D) o | & IS &

12.

13.

14,

’ ;
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Hrehfeen uftwe & ey # fFmffas 3 @

AT FYA T & 7

(A) & 3THieH TS I TUTH
LR

(B) T 7 wewiia U ot we & foeh &
arhfean A &

(C) TTel & G ohl Y 3TTh{esh iE i
e TR

(D) 35 H ¥ i3 T&l

e ALy A P 8 240
St e 3

(A) W‘ﬁw

)" (B) Sfeor afvem AT

(C) (A) 3 (B)3Hi
(D) 3o o & IS TE

g & gay ¥ Frafafa 3 @S-

FH AR 7

(A) wom o o for fgea fafer & 6 and
T fh g A & w3 A v

(B) faftr g wwe % weaw @ 97 srafy
Tl Qs S wdt W & ST
ame

(C) (A) 3 (B) 2HI o7& &
(D) (A) 3R (B) 3Fi &4 &
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15.

16.

17,

Which of the following State Government

launched the Kanyashree Prakalpa
Scheme which has witnessed a 10%
growth in preventing dropout from

school ?

(A) Karnataka
(B) Bihar

(C) West Bengal

(D) Uttar Pradesh

“Exercise Western Shield” which is the
largest ever military exercise of which

of the following country ?
(A) India

(B) SrilLanka

(C) England

(D) Russia

Which of the following countries
involved in Naval exercise.called

“IN-VPN BILATEX” ?

(A) India and Venezuela
(B) India and-Vietnam
(C) India and Sri Lanka

(D) None of the above

18.

19.

20.

(J
MKG-XIX/TECHLIB/T/ ’
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Which of the following toxic chemical
which is being found recently in feeding

bottle of the babies ?
(A) Bisphenol-A (BPA)
(B) Polyvinyl chloride
(C) Ethylene dichloride

(D) None of the above

“Tiwa tribals” are the tribal group mainly

found.in.which of the following States ?
(A) “Assam

(B) Kerala

7" (C) Tamil Nadu

(D) Gujarat

What is the aim of Central Government
Flagship Programme Unnat Bharat
Abhiyaan ?

(A) Linkthe higher education institutions
with a set of villages (rural area)
(B) To encourage tribal students to go
for higher education

(C) Encourages women to go for

higher education

(D) None of the above
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22,

23.

.
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ii) General Intelligence and Reasoning Ability

In a row of 40 boys facing the North,
Amar is 6" to the right of Sandeep and
Sandeep is 11" to the left of Vijay. If
Amar is 28" from the right end of the
row, what is the position of Vijay from
the left end of the row ?

(A) 17"
(B) 21¢
(C) 20"
(D) 18"

Arrange the following words in a logical
and meaningful order :

1. Travel

Destination
Payment
Berth/Seat Number
Reservation

Availability of berth/seat for
reservation.

6,2,5,4,3,1 ’
5,3,4,1,6,2
2,6,3,5,4,1
1,2,5,4,3,6 N

o o s w N

>

(
(B
C
D

)
)
© N

(D)

Find the wrong number'in the number
series : i

2,5, 11, 27, 581421, 248

(A) 5 O

(B) 11

(C) 27

(D) 58

7
(Y J/ aY

24,

25,

26.

In a survey of newspapers A, B and C,
shows that Newspaper A is read by
26%, Newspaper B is read by 25%,
Newspaper C is read by 14%, A and B
are read by 11%, B and C are read by
10%, C and A are read by 9%, C only
is read by 0%.

The percentage of readers who read all
the three newspapers is

(A) 1
(B) 4
(C) A
(D)._6

How many such pairs of digits are

there in the number 95137248 each
of which has as many digits between
them in the number as when they are
arranged in ascending order ?

(A) One
(B) Two
(C) Three
(D) More than three

Roshanis taller than Hardik who is shorter
than Sushil. Niza is taller than Harry but
shorter than Hardik. Sushil is shorter
than Roshan. Who is the tallest ?

(A) Roshan
(B) Sushil
(C) Hardik
(D) Niza
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15.

16.

17

feferfad @ @ fore U5 TR 7 S
Yohed ISHT Y% il e whet Bt W
U & 10% g ae hr 2 ?

(A) FHTeH

(B) ferem

(C) fTem sfme

(D) IR

‘et viieg s’ ferfefiaa o & fra 2w
1 37t T 1 Tl ST 8 A ¢ 7

(A) T

(B) sfer

(C) ¥is "
(D) & |
“IN-VPN BILATEX" ﬁm%nﬁa@ﬁ%ﬁr—r
ol o offer e s & 2

() e i e

(B) e s g

(C) W 3 sfieia

(D) 3% U Y g Tl

18.

18.

20.

<
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el o g o i e ) Pt
T ¥ T T IR ?

(A) ForbTe-T (BPA)

(B) wietferSet FeiRTES

(C) 3ATEE STINES

(D) 3% H & I Tl

e Sistiaal et agg Freffaa
58 F e B e R 7

(A)~21EH

{B)

)’ (C) dferTg,

(D) gsrd

ﬁm%ﬁﬁmwﬁwmm

A AT FE ?

(A) =a e e i 35 U e
(amfior &F) | ST

(B) ey farenfd st 3= fem ¥q
Sicenfed S :

(C) wfeemsti =t 3= forem g Jfa e

(D) I H & S AL
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i) | ghgw

21. I 3 e fohu gu 40 e ww Ul

22,

23.

Fard 11 9 8 | 3R s ufR Fad Br
28 ai 2, a1 uferd o sl BR & faem i feafa
FEn 7

(A) 17
(B) 214
(C) 203
(D) 18

faferfad wesdl 1w arfde ot ads
% | T |

1. =T

2. T

3. ¥

4. a‘effiﬁzqaz

, <§
6. aﬂ&m%gmawmi/@hz

(A) 6,2,5,4,3,1
(B) 5,3,4,1,6,2

(D) 1,2,5,4,3,6

.\\

e e i Tetd §EH T |
2,5,11,27, ;& 248

ws O
(B) 11
(C) 27
(D) 58

! .
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AT ATfehen Trran
24. GUNER T A, B 31K C % U gagw 1 3@
TR, [ A% 26%, BHI 25%, CFH 14%
AN TGd & | AR BH 11%, B3R C
1 10%, C 3R A Tl 9% I Ie1 ST 2 |
Fad CHl 0% Yed & | aft offiF gerames
1 T Tl = I 8
(A) 1
(B) 4
(C)
(D g
25. @%@195137248%:ﬂ'ﬁﬁmﬂ3wﬁ
Ot frm s, 7 @ R gm e
§ ffr 3 & 37 @, o o7 fow e wen
TFFEE?
(A) T
(B) @
(C) =
(D) @ arferen

4

26. TIfeH Y UIH e & 3 gufier & wiféen e
21 30 3 e o R S afdm A B 2
e @ gefiel Siel 31 Fodl e A 2 ?
(A) UTH
(B) g
(C) T
(D) s
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27,

28.

29.

30.

-10-

Raj and Roy start walking in opposite
directions. Raj walked 3 km and Roy
walked 4 km. Then Raj turned right
and walked 4 km and Roy turned left
and walked 3 km. How far is each
from the starting point ?

(A) 4.5 km

Find the missing letters of the series :
a_aabb__ab_b_

(A)
(B)
(©)
(D)

baaaa
babab
baaba

bbaaa

Choose the correct one for ? .
8 |128| 2

4 1 | 64
?7 | 32 | 256

17 A\

If ACNE is coded &5-3, 7, 29, 11, then
BOIL will be cogedas

(A) 5,31,21-26
(B) 5,31,19,25
(C) 5,29,19,25
(D) &,29, 19,27

w

31.

33.

.
MKG-XIX/TECHLIB/' !
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Five cities A, B, C, D and E are famous

for their lovely garden, fancy jewellery,
educational institute, blue pottery and
scents but not in the same order.

() A and C are neither educational
institute nor have lovely garden.

(i) B and E are not famous for fancy
jewellery or blue pottery.

(iii) Scents and fancy jewellery have
nothing to do with A.

(iv) D and E are not famous for lovely
garden and fancy jewellery.

(v) D is not famous for educational
institute.

Them‘:@ity E is famous for
(A)(_Fancy Jewellery
(B)Educational institute
{€) Blue Pottery

(D) Scent

(32. Three of the following words form a

group, while one does not belong to the
group. Find out that word.

(A) Eyes

(B) Hands

(C) Intestines

(D) Ears

If it is possible to make a meaningful
word with 2" 4" 6" and 8" letters of
the word ATMOSPHERE, which of the
following will be the third letter of that
word, if more than one such word can
be formed, give ‘X’ as the answer and
if no such word can be formed, give ‘Y’
as the answer ?

(A) O
(B) E
C) X
(D) Y
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28.

29

30.

-1 1=

TS 3R U AT fadia feena o wem g
Fd 8, T 3 for.fi. s T 4 e oft, =
iR Tt aTd et 97K 4 fop.wft, =en i T
s e 3 b 1. = | 2R S fiig
YRRHEE?

(A) 4.5 ..

(B) 6 ..

(C) 5Tt

(D) 8 ..

g@dlla _aabb__ab_b_w%dw
SR Tl |

(A) baaaa

(B) babab

(C)

(D)

?%gﬂﬁﬁmgﬁrzl
128 2
64
256

baaba

bbaaa

N

Hﬁ:’ACNEW%&S@, 118, @ BOIL

(A) 5,31, 21,

(B) 5,31, 19,25
(C) 5,29,19, 25
(D) 5,29, 19, 27

-
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31, U IR A, B, C, D 3 E Wity s,

33.

HATRN ST, efores geen, Hie gl 6

& 3R T2 % foru weama B, Afs gefi oo

T |

(i) A @R C 1 ferforr gean it Ty
S T R |

(i) B IR E a1rehsh 3y 7R et g
% w4 o foru e T 2 |

(ili) AT Te IR TR AT TE R |

(iv) D 3 E o muffr Fiff=n 3 et
AT TR 2 |

(v) D s e 3 o e T R |

@, Fiurame ?

L

et fordt o =
) T2

7 ffafed @ & 99 158 T TR T €,

STelfeh Usk Tg § T 1T | 98 3168 I M |
(A) e

(B) =1

(C) @ird

(D) =H

7f2 9152 ATMOSPHERE # &, 919, 83
3T 8 d 318 ° i3 g1 Yo ST S
TR B, 11 39 3168 ol dvgy e Fmferfaa
T T -7 B, A U U & A g
THTU ST Hohdl B, a1 X 3T A iR afe
VT S Y1e2 Fal SR ST Hehdl ®, Y’
I Eifou ¢

(A) O

(B) E

(C) X

(D) Y
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34.

35.

36.

-12-

How many such 5’s are there in the
following number series, each one of
which is immediately preceded by 3 or 4
but not immediately followed by 8 or 9 ?

3595455358456735
7554523510

(A
(B
(C
(D

e
W O O &~

Statements :

1. 'All chairs are tables.

2. No table is a book.

3. Alltables are stones.
Conclusions :

l. No chair is a book.

Il. No stones is a book.
Ill. Some stones are book.
IV. All tables are chairs.

Which of the conclusions can be
logically correct ?

(A) Only |

(B) Only | and either Il or lli..
(C) Only I and Il

(D) Either Il or Il

If + stands for >, x stands for +, + stands
for +, — stands for’=,»> stands for x,
= stands for <, & stands for -, then
which of the foltewing alternatives is
correct ?

(A) 3+2<4+6>3x%x2

(B) 3x2<4+6+3<2

(C) 3>52<4-6x3x2
(D) 3x2x4=6+3<2

37.

38.

39.

40.

-
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In a certain code, BRIGHTEN is written

as HJSCMDSG. How is COMPLETE
written in that code ?

(A) DSDKQNPD
(B) QNPDDSDK
(C) QNPDFUFM
(D) OLNBFUFM

Pointing to a boy, Namrata says “He
is the son of my grandfather’s only
child”. Haw is that boy related to
Namrata ?

(A)._Brother

{B) Cousin

{C) Uncle
(D) Data inadequate

Today is Thursday. The day after
59 days will be

(A) Sunday
(B)
(©)
(D)

Monday
Tuesday
Wednesday

Find the similar pair in given options :
Stool : Bench : :

(A) Chair: Table

(B) Carpenter : Chair

(C) Foot rule : Yardstick

(D) Glass: Cup
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34.

35.

36.

13

fefcTfaa o7 g@er o U foree 5 8, e
3ok 9Bt 3 AT 4 T R, A qla
81 9 &l 3Tar ?

3595455

358456735
7554523510

Il. I3 e Toherel 71 2 |

. % e fohame @ |

V. Teft s pfifar § |

-8 frepd ffFE su T & 7
(A) Fad |

(B) =haet | 3T 111 |l

(C) et | 3 1l

(D) Fa NI

uﬁ>%;1%rQ+, +§§'3'%Qx,+a§ﬁ'l"l+,
= Hfar - xHRCS, < Ffm o, -F
foT < s7ran B, 1 F=rforfiaa o @ #m-an
foeper v & 7

(A) 3+42<4+6>3x2

(B) 3x2<4+6+3<2

(C) 3>2<4-6x3x2
(D) 3x2x4=6+3<2

37.

38.

-
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s ff7ed %2 3, BRIGHTEN &
HJSCMDSG forar iman 8, 34t e 3
COMPLETE @I &4 ferar simum ?

A) DSDKQNPD
B) QNPDDSDK
C) QNPDFUFM
D) OLNBFUFM

(
(
(
(
Tsh ST i 31Tl §U 5 Feelt 2, *‘am M

T HUHATH &2 FH 5T 2| 751 ¥ I8

(A) +9Tg
(B) == g

» (C) =T

39.

40.

(D) AT o &
AT eI 8| 59 fai & fom g
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iii) Arithmetical and Numerical Ability

The difference between the cost price
and selling price is ¥ 225. If the profit
percentage is 15%, then the selling
price is

(A) % 1,500

(B) T1,675

(C) T1,725

(D) None of these

Area of a sector of a circle with radius
6 cm if the angle of the sector is 90°, is

(24

ay 200
(B)

S

L

(©)
(D)

If the sum of two posi ’\a,numbers iS
15and sum of their @efprocals is 3.

then the number@
(A) 5,10 \é‘

(B) 3,12
(C) 4,11
(D) None of these

7 &

s

44,

45.

48.

47.

If A completes a job in 2 days and B
completes the same job in 4 days, then
A and B together can complete the
same job in

(A) 3days
(B) 6days

4
(C) 3 days
(D) None of these

A sum of two numbers is 21. If the larger
is divided by the smaller, the quotient
is 2 and.the remainder is 3, then the

n a group of 50 students, the number of

students studying French is 17, English
is 13 and Sanskrit is 15. The number of
students studying French and English
is 9, English and Sanskrit is 4, French
and Sanskrit is 5 and all the 3 subjects
is 3. Then the number of students who
study English and Sanskrit but not
French is

(A) 2
(B) 1
(C) 3
(D) None of these

The average age of 10 students in a
class increases by 4.8 months when a
boy of age 6 years is replaced by a new
boy. Then the age of the new boy is
(A) 10.4 years

(B) 8years

(C) 6.4 years

(D) 10 years
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iii) TR U HEATeHh TrgaT

41, FA e I fasa qod A T 225 1 ST |
af & Wi 15% 2, @1 fosd goa &
(A) ?.1,500
(B) T1,675
(C) T1725
(D) T 8 HE T

42, If Brsar@s w1 90° v Bsa e A R,

g9 % Bsarde #1 &a 3 (n=227)

) 22 e

®) 21 3
7

() lg—"an%

~N

(D) 1%13#12 N

Ife 3 aTee wEai L A 15 3
3T g o A et §

(A) 5,10

43.

(B) 3,12
(C) 4,11
(D) ¥ & S e

-15-

T

44,

45.

45,

47.

Iz A vk wR 1 2 e | ok B 3t
il 4 Tt 5 qu e 2 4 A 7R B e
Feft =l =t R ot o Rt 7

(A) 3T

(B) 6T

© 5t

(D) T & S T

21 T 1 A 21 B If 5t = i
T W7 R S0 A WITR 2 3 INEd
3, qi¥en &

(Ay "6, 15
(B).7, 14

{C) 8,13
(D) 9,12

50 ferenfelati o wes o o, Yl v areli
HEAT 17, 7T % 13 3R g % 15 B
Tl M SIS g aTell sh! T 9, IS
3R T F 4, B 3 T o 5 i Tt
3 forai o 3 81 A1 31T ST Tkl v ATt
W 7 e ATl Sl T 8

(A) 2

(B) 1

(C) 3

(D) T ¥ s &

T 6 T4 o STefe ! Ueh U e1Sh Gl
gfeeenfya = fear sie ar 10 ferenfei
& 31y 1 Ed 4.8 WIE 5 STl & 7
ST Y 3T &

(A) 10.4739

(B) 89

(C) 6.4a9

(D) 10§
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48. A copper rod of diameter 1 cm and
length 8 cm is drawn into a wire of
length 18 m of uniform thickness. The
thickness of the wire is

1

1_5'CIT1

1
30 M

el
Tgcm

None of the above

x% - 2x

IfX=\/§+1,then
x-/3

49.

50. Which among the numbers »

?.»’!E"’

8 2 o N
——, — has non-terminating répéatin
125 5 g ép 2
decimal expansion ?

w2

1

(B) 3

-16-
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Mr. Ram agrees to pay the rent
30,000/~ for the first year, ¥ 32,000/- for
the second year and so on. Each year
there will be a hike of ¥ 2,000/-. The total
amount paid by him for all 10 years is
(A) ¥ 3,90,000

(B) ¥ 3,00,000

(C) X 4,00,000

(D) None of these

If the zeroes of the polynomial

x3-3¥wx+1area-b,a,a+b,
Qs

thep-aand b are

(AT, =42

{B) =1, J2
IC) 3,+4

(D) £3,4

In a bag, there are coins of 1 rupee,
50 paise, 25 paise in the ratio 2%: 3:4.
If the total of money in the bag is ¥ 80,

then the number of coins of 1 rupee,
50 paise and 25 paise respectively

are

(A) 48,40, 64
(B) 64,48, 40
(C) 40, 48, 64

(D) None of these
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48.

49.

50.
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1 3t =7 3 8 At e el a9 % T
% T T AT Fret 18 M s % qn A
fig=n S B AR HeE R

W 5

(B) g‘dam
© 75 Wi

(D) 3 H @ HIS &

x2-o% |

Ife x=J5+1,?h =3

1
(A) 5

(B) 3
(€) 2
(D) 1

L4

51

52.

53.

-

FRESHERS NOW

MKG-XIX/TECHLIB/1T/06

ot 7 e 7 2 X 30,000/, T ad &g
¥ 32,000/ 37N 36ty a1t oft fomran 2
& oo aeht € & | v ad 2 2,000/ s)ew
S | |t 10 3 o fore 3 31 T
feram ST T T @

(A) T 3,90,000
(B) ¥ 3,00,000
(C) % 4,00,000
(D) THE R T

A
Ao TEIEH x° — 3x2 + X + 1 H I
a-baa+bd Ma sMb

(A) 1,242

(B) 1,2

(C) 3,+4

(D) £3,4

TS S H, 3 1, 50 %@, 25 U9 & fraw
2%:3:4%agmaﬁ%|uﬁénﬁwm
T80, T T 1,50 W 3R 25 ¥ o Ryt
i T T B
(A) 48,40, 64
(B) 64, 48, 40

(C) 40, 48, 64

(D) T & g e
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54.

55.

56.
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Three years ago, the age of the father
was 8 times that of his son. Now, father
is 5 times as old as his son. Then the
present age of the son is

(A) 5years

(B) 7 years

(C) 6years

(D) 3years

If Ms. Preeti had walked 2 km/hr faster,
she would take 60 minutes less to cover
the distance of 12 kms. Then the normal
speed of her is

(A) 6 km/hr

(B) 4 km/hr

(C) 8 km/hr

(D) 2 km/hr .'f

There were 2 candidates in an eleqiﬁd_ri.
20% of people who were in thé“vaférs
list did not cast their votes ang-among
the voters who casted the votes 50 were
declared invalid. The winner secured
300 more votes than'ttie, looser of the
election. If 45% ofithre total people
voted in favour ojj{ﬁé§§vinner, the votes
secured by theddoser is

(A) 1125

(B) 825

(C) 900

(D) 925

57.

58.

60.

-
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The altitude of a right angled triangle is
7cmless than its base. If the hypotenuse
is 13 cm, then length of smallest side is

(A) 4cm
(B) 5cm
(C) 6cm
(D) 2cm

10" term of the sequence
16, 28, 40, 52, .... is

(A) 124
(B) 114
(C)( 154
(D). ‘None of these

75

2
B =
o

8
A
=
12

(D) %

sin®57° + sin®33°
cos®27° + cos® 63°
(A) tan45°

Value of

(B) 1 +tan 45°
(€) 0
(D) None of these
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E? < = g, T it oy g <t g @ e
on oft| 37 e g3 & oie e 5w ) 3
e oy 2
(A) 5T
(B) 7o
(C) 6a4
(D) 3o

55. afe @it fifa = 2 foeft / v et e e
12 fobell =1 58 7 %1 1 3 60 fire am

T | 3l g T B
(A) 6 Tt /e
(

O

&

S
RUIER

(B) 4 Tt /e
(C) 3 Ferrt /=
(D) 2 TRt /et

56. THTAEH 2 Y 9|
20% T A AAeH T8 TAgH F
el | § 50 7 A % 300 79
T ATl | ﬁw&%wwa@
I W& 45% e 3 @ 2R A
S T e B

(A) 1125

(B) 825

(C) 900
(D) 925

B
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57. e T e i S 3 en @
7 |t % 2| afe ot ot g 13 Bt R
o B o @
(A) 4T,
(B) 53,
(C) 6H.H.
(D) 231,

58. 4@ 16, 28, 40, 52, ... HI 10a( 92 &

164

) FH & i TE
S°

12

5aﬁtﬁ‘qﬂm%

15
(A)
(B)
(C)
(D)

sin®57° + sin® 33°

60. E 5 -
C0s“ 27° + cos“ B63°

(A) tan 45°

(B) 1+ tan 45°
(C) 0

(D) 3 IE T


https://www.freshersnow.com

it

61.

62.

63.

64.

65.
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iv) Hindi Language and Comprehension

&=t umw s sy
‘SR 3182 1 faed e @ 66. WU VG H _ g=q H W ERTR |
(A) STesTed (B) T2 (A) TFHaeA
(C) s (D) 3FTERY (B) fer=m
Srea ferfia - (C) =T
5w % @ (D) (A) 3 (C) EHi
. T @. frm 67. ‘IucaE 1 39 2
3. @i T, fE (A) 3 TETEH % S el T T
§ e a. (B) et 1 5 1 i3 2
a s oz 3 (C) ST A 3 Sgem
AF ¥ T (D), W g1 3 7 2
BT @ u ® 68. (Srew fafian ;
©c@ F 7 7 y 3. dit-tfR . ey guTH
DT W F 9 & fﬁ b ;:a%mm
: 3. T, g @

:j:;z:qgw v 3. U o, §F O

3. gR-1e T, FHITT T
(A) W (B) m e
(©) Teie (D) FIE A8 F T T ¥
o’ wee 1 SRR BF ¥ @ T 7
(A) o (B)forera ©@ T T F u
(C) faer @) = DT = W @ T
o vree @ Rt s e g EwEn | 69. IR H F9 oft 7 e 3w | mawm B

1, 39 H8d ¢ |
(A) o1g (B) eI
(C) fomam RERUE

A 8
(A) 38T
(C) Tt
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72,

73.

74.
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Siresrt fofiam 75. |, gam, fas o e % g sa @

. UR-URE %, GO HE e A9 B, 38 FEAE |
I (A) T ®) fem

i En vl SR (©) ©) fem

3. e A . Ed A @ 76. W%ﬁawﬁmﬁw%émﬁﬁ%ﬁ
e e T 1 1Y a1 2, 39 FEd B |

$ R U AT (A) fopa (B) Fred
# e 3 3 (C) #rg (D) H

(A) = g T RE} i aﬁm%f@-q

B & @ T H 3 %GR

G F @ A

Brst & (:3’ qfaecRad 7. MR

g;+a¢m1:gaisﬂa‘a gfer § A AT 3

1 BT | O AT F @

(A) T (B) 3« 5? ®B%F 1 @

(C) (D) = é Cc @ ®

o — D)7 @ &

JEREE | 78. ‘I@-¥IG H YHA 98 39 Al

P Sk

(C) =@y (D) @ (A) aTel-Ta # firetrare 8T

e ST A | 7R — (B) =39 H 3@ 4 ATl

52| (C) ereI-9Td | fieiee & are

(A) d \\ (D) T8 ¥ FrE T

@ s O 79, 171, T S we o R A,

(®) “Tﬁ“ﬁ@ 3 FEAT |

(D) aTRTSRI Terd & () B () Fa

‘T0 I g4 A UEe’ 39 919 | 58 T (C) I (D) ©Tead

“W—W%' 80. ‘A’ ee 1 WY faureH Aifsw |

(A) TOTET=EH (B) I&HETHH e o e

(C) wEI® . (D) wiwmEES 1 e 0 W
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Change the following sentence into passive

voice :

81.

82.

Fill in the blanks with appropriate preposition.

83. How we long the
good old days.
(A) for (B) at
(C) through (D) of ‘
84. | jumped the opportu@
of going to Kashmir, Q)
(A) of (B) at c?
(C) into (D) to
Select the indirect speech for th n
sentence :
85. Mohan said, “I want{é@come a
doctor”.
(A) Mohan said thathé wants to
become a d
(B) Mohan tol he want to
become
(6)) that he wanted to

-22-
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‘The police gave him a reward.’
(A) Areward was given to him.

(B) He was given a reward by the
police.

(C) Police was given a reward.
(D) He gave the police a reward.

‘Prepare yourself for the worst.’
(A) The worst would be happen
(B) Be prepared for the worst

(C) You would be given the worst

(D) You would be prepared to get
worst

doctor

. Moh
becoi%i

86.

87.

M@said he want to becomes
a r

S
<

89.

90.

He said, “I bought a house in
Bangalore”.

(A) He said that he bought a house in
Bangalore.

He said that he has bought a
house in Bangalore.

He said that he buys a house in
Bangalore.

He said that he had bought a
house in Bangalore.

(B)
(C)

(D)

Fill in the blanks with appropriate options :

| was sure that | him before.
(A) had met

(B) meet

(C) am meeting

(

D) have met

§ Despite yesterday's snowfall, we
[ home in less than

an hour.

(A) could drive
(B) drive

(C) can drive
(D) able to drive

You don't object
tonight, do you ?

(A) to working
(C) worked

late

(B) to work
(D) work

She her holiday in Finland.
(A) told me about

(B) said

(C) told

(D) told about
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91. They directed tha

t the building ____ 96. (A) Distress

(A) be pulled down . (B) Hach it
(B) to be pulled down | (C) Conjurer
1
(C) should be pulled down (D) Transpired

(D) should pull down _ r . _
Select simple sentence from the following :

Punctuate the following sentence : _ .
97. (A) |told him that he had failed.

92. He said | wont allow it . (B) Not only had he many friends but
(A) He said ‘| wont allow it also several enemies.

(B) He said ‘l won't allow it.
(C) He said, ‘1 won't allow it.’
(D) He said, ‘I wont allow it.

(C) Having read the book | returned it
to the library.

(D) Tom as well as Brown passed the

93. Have you seen this man before asked test.
the inspector.
(A) ‘Have you seen this man before’ 98. (A) The boy who had stolen the watch
asked the inspector was caught.
(B) ‘Have you seen this man before 7 (B) This is an old fort that was built
asked the Inspector. by Akbar.

(C) ‘Have you seen this man before’,
asked the Inspector.

(D) Have you seen the man before ? i
asked the Inspector. '_

| beginning to flower.

‘ (CY At the time when my sister died |
was only eight.

(D) Henry was delighted to see it

94. Find an assertive sentence from the
following hSelect the sentence which is grammatically

|
. - : W (]
(A) Wisdom is much better than wEahe:

riches.

|

\, 99. (A) George ran faster that me.
(B) How kind of you to help him ! |
5 : |

(B) You did it better than we.
(C) Why worry about whatpeeple say. |

) (C) | like you better than him.
(D) Stop talking.

(D) One of my friends is in Delhi.

Find the wrongly spelt word : Y _ . '
100. (A) | wrote a letter to him last week.

95. (A) Lieutenant ! (B) | have written a letter to him last
(B) Psychology | week.
(C) Lieftenent ‘ (C) | had written a letter.
(D) Rapport ‘ (D) He wentto the picture yesterday.
-23-
f : :
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101.

102.

103.

104.
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SECTION - B
Post Specific Subject - Related Questions

Information is a
(A) Communicating of news, knowledge
or facts

(B) Raw data
(C)

(D)

Unorganized data

None of the above

Which generation of computer uses
transistors ?

(A) First Generation Computers
(B) Second Generation Computers
(C) Third Generation Computers

(D) Fourth Generation Computers

by
(A) UGC
(B) CSIR
(C) UNESCO
(D) IFLA

S

L

Unity of Command igﬁe’s that
(A) Strength in q@,
(B) Specializah@

(C) Sub-ordinate should receive orders
from one senior only

(D) Orders from any one person

INFLIBNET Programme was initiate¢$

105. Memory unit’s function is

(A) To understand and execute
instructions in a logical sequence
(B)

To perform arithmetic and logic
functions

To receive data

Tohold data, instructions, processed
results

(C)
(D)

106.
in the y

(A)
(B)\1933
1932
) 1935

Indian Li?éﬂ Association was founded

The main objective of the RRRLF is to
(A) Promote and support the Academic
library services in the country
(B) Promote and support the Public
library services in the country
(C) Promote and support the Special
library services in the country
(D) Promote and support the Library

associations in the country

108. LAN means

(A) Local Area Network
(B) Local Library Network
(C) Large Area Network

(D) Library Associations Network
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AT - &
e Tfiftees foaa-—weeh o

BERIRED 2

(A) TETER, T AT 21 3 G0
(B) el s

(C) Irmiad HiFs

(D) 3l H & g e

I it - it ziforeeti @
FA R 7

105. TOH sFE HFE B

(A) Tl =t ek fehh 9 1 THEHT 3R
FHEfEd FE

(B) Tfurelar 3 anfehep v e
(C) @ehe T T
(D) 3RS, Féw, sreepa aftomdi =t

106. w&mq@rﬁmﬁwﬁ

(A) wom it et (—C{;Mii‘@é'
(B) Tertr i et §1933
(C) el el gt (C) 1932
(D) =gel it e é (D) 1935
|NFL|BNET$[&$H__%\W- RHR;;??HE% .
(A) &1h JEdIe
R QS e S e 3
Ay Uat ’ (B) 331 5 JEashierd {3t 2h S
(B) CSIR 3T A &l
C) UNESCO (C) 2w i farsiy qeehrer et &1 s
- \\ ik el 2
(D) IFLA 0) o B -
mﬁmm\‘ S AT
(A) T TR 108. LAN 1 319
(B) fasman (A) ARl Ui Jeas
(C) L] Tl et U &l AN | (B) et TgsHl e
IR AT ATRY (C) TSt T ek
(D) st THIfHOIH Ao

(D) Tore v o =Afea & oW
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110.

111.

112.

-26-

Who was the first awardee of Ph.D. in
Library Science in India from University
of Delhi ?

(A) S.R. Ranganathan
(B) B.S. Keshavan
(C) D.B. Krishnarao
(D) G. Bhattacharya

IATLIS is an association of
Special Librarians
Librarians of Public Libraries

Librarians of Teacher's Training
Colleges

Feedback mechanism is a part of which

service ?
(A) CAS
(B) SDI
(C) Reprography Service

(D) Translation Seniee

American Library)Association was

established if¥
(A) 1877
(B) 1878
(C) 1876
(D) 1800

113.

114,

Library Science Teachers in India {~

115.

116.

-
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Universal Availability of Publication is a

programme of

(A) IFLA

(B) UNESCO

(C) FID

(D) Library of Congress

Which one of the following protocols is

used in transferring file over internet ?
(A) POP
(B) FTP

(C) SMTP

(D) TCP/IP

Which of the following is not a secondary

source of information ?
(A) An encyclopedia
(B) A textbook

(C) Patents

(D) Indexing services

Colon classification is a system of

Library classification developed by
(A) S.R. Ranganathan

(B) Melvil Dewey

(C) C.A. Cutter

(D) H.E.Bliss
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109. foeed fovaforrmer & vy & qesrie

foam & e 2. urd 9 gt wem i
A 9 ?

(A) TH. IR THIH
(B) . uH. FyEA
(C) €. sft. FwrE
(D) Sft. weremd

IATLIS 1 T THITHUIH |
(A) fafire amstes

(B) S GEqaHIeEl & AT

(C) Tnerss Sfireror gl % wmgafam

(D) R ¥ Jeaepler famm o femes

110.

111, uﬁﬁmwnﬁﬁ%a@mwm%?§
(A) CAS g’\&
(B) SDI )

112.

(A) 1877

(B) 1878
(C) 1876
(D) 1800

o

=27 =

! y
FRESHERS NOW

MKG-XIX/TECHLIB/1T/06

113, SR <Rl ST 1R SRR
1 Teh RIS ¢ |

(A) IFLA

(B) UNESCO

(C) FID

(D) <TEsHi ST FE

TS W RIEE! 1 RN 0
g$ﬁéﬂq-ﬁmaw
(@POP

) FTP
O

§ (C) SMTP

(D) TCP/IP

114.

115, TH=foRan & & -1 g = fgdas a
T ?
(A) T
(B) TAFEF
(C) ¥

(D) geFohTeh! HaTd
FIAH T FHRECIE
eI TeRT0T 3ht ek JOTTed! 2 |

(A) TH. IR, TEEH
ORIERES]

116.

C) 9. T &KX

(
(D) w3, focrd
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117. Madras (Tamil Nadu) Public Library Act | 122. Bern Convention (1886) is associated

was enacted in the year with

Nl (A) Translations

(B) 1948 o) o

(C) 1958 (B) Copyright

(D) 1950 (C) Standards

‘ _ , (D) Patent
118. Library of Congress is the national

library of 123. Library building is the result of

(A) Germany co-operation between the Librarian

(B) India s
(C) Japan .@ |
(D) USA ( inance Officer
@ Architect
119. Information relating to Defense Studies -
are provided by C) Registrar
(A) INSDOC g (D) Principal
(B) DESIDOC ¢ | -
(C) NASSDOC ®"124. Which of the following is/are the
(D) NML basic requirements for the library

automation ?
120. School, College and Universﬁyﬁbraries

constitute (A) Computer Hardware

(A) Academic Libraries
(B) Public Libraries
(C) Special Librari
(D) Research Libﬁfj S

125. Call number generally consists of
121.  Which of the @ing is/are the search

(B) Library Software
(C) Finance

(D) All of the above

engine ? A (A) Class number, book number and
(A) Goog\leQ collection number
(B) Yahoo (B) Class number

(C) Altavista

C) Book number
(D) All of the above ©

(D) None of the above

-28-
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117. W5 (afemTg ) S qedeer sifirfam
EL| 1 srferfrafi gam |
(A) 1947

(B) 1948

(C) 1958

(D) 1950
TSI AT FEE
QeI ¢ |
(A) SR

(B) wrd

(C) S

(D) 3T

118.

_ HTEE

119, T&71 7899 | Halferd g

T 39T TS W @ |
(A) INSDOC

(B) DESIDOC

(C) NASSDOC

(D) NML

Toremer, wetfemer ik fovafiriea %
TR TAE |

(A) e TeashTerd

(B) S JTHICH

(C) Tore geerera

(D) ITFEUH JefHIcTH

fFrferfad § 4FR-a v A E 7
(A) T

(B) g
(C) Aearfawar

(D) 3w+t

-20.

120.

121.

122

123.

124,

125.
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T HAIA (1886) Y EENAE |
(A) SR

(B) whitiuige

(C) "=

(D) Uée

RSEIRECIC IR AR

o 1= HEan 1 afem R |
(A) forrerferrd)
8) Ay

(C) ~Hsfier
(D) waHREwE

JehTeTd e % o smemyd
AERFAN Fferfad § 8 Sa-di 2 7

(A) S EEHT

(B) JIEHICH TR

(C) o

(D) I weft

i T HHTRI:

BAE |

(A) e T, TEdF T 3N gFer
&1

EARCE

(B) e e
(C) Twish T
(D) 3Tl & IS T
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126.

127.

128.

129,

130.
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OPAC stands for
(A) Online Private Access Catalogue

(B) Online Periodicals Access
Catalogue

(C) Online Public Access Catalogue

(D) Online Public Access
Classification

ISSN consists of
(A) 10 digits

(B) 7 digits

(C) 8digits

(D) 13 digits

The catalogue card has been

! y
FRESHERS NOW

MKG-XIX/TECHLIB/ .. _ .

131. Which one of the following is set up

by Indian Council of Social Science

Research (ICSSR) ?
(A) NISCAIR
(B) DESIDOC
(C) NASSDOC
(D) INSDOC

132. A facility through which messages
can be exchanged electronically by
co r networks is called

(S)OCP/IP
é E-Mail

C) IP
standardization at O
(D) FTP
(A) 7.5x125cm
(B) 8.5x12.5cm éﬁBS. Damaged books which cannot be
(C) 6.5x11.5¢cm repaired are withdrawn from the library
(D) 6.5x 125¢cm \ is known as
' s} : (A) Shelving
A person who receives the message is
(A) Receiver (B) Weeding
B) Feedback (C) Circulating
(D) Acquisition

(B)
(C) Encoding \
(D) \

D) Message 'Q.

The mathemﬁ%eory of
communicq@ eveloped by
(A) Shannon and Weaver
(B) Lasswell
(C) Allen Kent
(D)

D) Khettermore

134. A client-server based distributed
hypertext and multimedia information
system on the internet is called
(A) World Wide Web

(B) Search Engine

(C) Web Browser

)

(D) Remote Login
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126. OPAC 1 31 2
(A) TS TTEE TR FTelm
(B) 3iHeirEd fifefesrey watiy Fere
(C) SIS Ufecteh Tow el
(D) AT UfecTsh TR FeATUhR

127. ISSN___ HISHIEEig |
(A) 10 aiaﬁ
(B) 7
(C) 8
(D) 13 37
128, SRAMFS_ TUHHHIG AT
TR |

(A) 7.5x12.5 9.Hi.
(B) 8.5x 12581
(C) 6.5x11.58 ..
(D) 6.5x 12.58 ..

129. 9 YT FA dTedl S & S.\&
(A) TRl '
(B) wffzmar
(C) TG H
(D) e \\
&

130. G 1 TOr W

farefea o
(A) A R i
(B) oiaw
(C) T %
(D) WEER

L

! y
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31, Ti=fefiaa § @ FH-a1 wrda g
fogm oge™ gty (ICSSR) Z/ sH M
TS ?

(A) NISCAIR

(B) DESIDOC
(C) NASSDOC
(D) INSDOC

132, & giaen e arem & waw faeged &
7 ZH 91 S 8

®D/IP

c%‘

(D) FTP

3, aﬁwgmﬁ:ﬁqﬁwﬁﬁmm
Irc JEahTer d Tt o ST &, 98

FEATAE |
(A) ifesm
(B) difer
(C) wergafem
(D) wEhfS

134, T2 T FATE2-Ta 3TN T BIEHIAL
R e qe ot m
FEAE |
(A) TS aEE a|
(B) ¥ §SH
(C) 39 TP
(D) fAR @M
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135.

136.

137.

138.

139.

OCLC was established in the year
(A) 1967
(B) 1978
(C) 1966
(D) 1960

The MARC tag 250 is

(A) Publication, distribution, date etc
(B) Edition Area

(C) Series added entry (title)

(D) Personal name subject heading

Which of the following is not a library
housekeeping operation ?

(A) Acquisition system
(B)
(©)

) d

(D) Book exhibition 55
AGRIS is an international inform{
system for S\

L

Serials control

Cataloguing

(A) Agricultural Science an
Technology

(B) Architecture

(C) Engineering .\\

Social Scien @

A binary digit i ly represented as
(A) 1and2

(B) 0and2

(C) 0and 1

(D) None of these

”

140.

141,

142.

143.

144,

-
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Kardex is for maintaining visible

records of

(A) Books

(B) Thesis

(C) Periodicals

(D) Manuscript

The oral communication is also

called as

(A) Formal Communication

(B) Verbal Communication

(&) erbal Communication

(D) ﬁ:lal Communication
cebook is a

) Social networking service

80(8) Web browser
g

(C) Search engine
(D) Database

Which of the following is correct about
e-books ?

(A)
(B)

Printed version of book

Electronic versions of book that are
delivered is consumers in digital
formats

(C) Any book available in the library
only

(D) Book available in anywhere

Libsys software was developed by
(A) INFLIBNET

(B) Datapro Consultancy

(C) Libsys Corporation

(D) U and | Software Pvt. Ltd.
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135.

136.

137.

138.

139.
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OCLC &t T o
(A) 1967
(B) 1978
(C) 1966
(D) 1960

MARC 311 250 8

_ HE

(A) e, T, fafdr anfg

(B) eI &

(C) #raen Hem et Sfafe2 (vfder)
(D) forsit =m forear i

ﬁt{%@aﬁﬁﬁq-mwm
E@E e T8 8 7

(A) fenror yoreht
(B) e FEm
(C) T ST
(D) T FeIH!

AGRIS

140.

141.

142.

144,

-
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W wgm Al |
T A B e @

(A) T

(B) <fifqa

(C) dfaifeses

(D) urgfeify

dfemadwr shamaEd
(A) 3= gomor
(B) #ifiaes oo
(C) r-wifigss glwor
(D) s i
PEENE 3
(&ﬁhmizaﬁmﬂm
(CREEE EE

) &4 5

Q’} (D) =R

r

3-gel & 91§ frefafes § 3 F9-a

e

(A) & I Glsd TE

(B) e %1 SoTa ek TR0l ST TITeeh !
fesites wrew § fear sran 2|

(C) IS T&ieh SNl el Teaehied o
39cTeY &

(D) el +ft Uy g

fafmaieam . zm
T foma |

(A) INFLIBNET

(B) STt FEecH

(C) fafchw wiaism

(D) 7 ¥ Wi e Rrfive
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145,

146.

147.

148.

149.
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Internet explorer is the

(A) Search engine

(B) Web browser

(C) Social networking site
(D) Database

The word information is comes
from the

(A) Latin word
(B) Greek word
(C) French word
(D) Russian word

Language barrier is overcome by
(A) Translation service

(B) Foreign exchange

(C) Glossary

(D) Referring

Which of the following is not related with
the communication system ?

(A) Sender
(B) Recipient

(C) Channel s.\&

(D) Entropy :

Which one of the followin not
the functions of Iibrar)\ enance
section ?

&

(A) Arrangement ofiihe documents on
the shelves rganization of the
stock roo e library

(B) Library software installation
(C) Dusting and cleaning of collection

(D) Preparation and maintenance of
guides

[J
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150. Which of the following can be

considered as formal channels of
communication ?

(A) Books, Periodicals, Conference
Proceedings

(B) Research Reports,
Correspondence, Books

(C) Short Communication, Journals,
E-Mail, Theses

(D) Conversations, Electronic Journals,
Research Reports

151. The t@ypenext was coined by
(A) imov

*Bradford
Ted Nelson
(D) Beesman

2. Afinancial statement of the estimated
revenues and expenditures of an
institution in a definite period of time is
known as

(A) Finance
(B) Expenditure
(C) Budget

(D) Income

1563. IASLIC was founded in the year
(A) 1952
(B) 1955
(C) 1954
(D) 1956


https://www.freshersnow.com

i

-

MKG-XIX/TECHLIB/1T/Q6 FRESHERS NOW

145, S THETAT 2l 150. fr=feifiad 4 @ ford o & sfonfen

CNREESE ST HIHT 71 T 2 7

(B) o SIS

(A) , difefesey , aeq
() et e wmEe %
(D) SrereH .
| (B) 3uH fate, v, Tee

146. nggﬁ—*@w%' (C) TE HIINVT, STHed, §-Hel, e Jarel

A N . .

EB; e xres (D) TWTYUT, SoAITeh SHcd, ATHIH

(C) WidHHr 38g feand

(D) it 912 151, BEWHL B fe |
147,  WISTS 18T o1 R R fefn (A) @

T HFAT R | ®) e

(A) FATE e Y

(B) fereyft fafa @gw

(©) T &B st

(0) @ e Fifvee gy v geen &
148, fi=foifad 4 9 w9 -7 gy gonefi 3 FTehferd TsTEd 371 =53 =l fortg oo

Tee T8 8 7 N FEATA 2|

() S N ()

(B) STkl ®) =

(C) == at

(D) IcsFH AT (C) ==
149. F=fafad § 9 sH-41 0T D)

T 1 T & 7 153. IASLIC % T o 1 gl

(A) sFemifEr § i SFaE 3R (A) 1952

o .
g ; N (B) 1955

(B) IehIcT |t SRt ot

(C) HFeH ! ATH-TFTS (C) 1954

(D) TTSSH i AR S AL ferd AT (D) 1956
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154.  Universal Bibliographic Control was a
programme of
(A) UNESCO
(B) FID
(C) OCLC
(D) IFLA

155. The concept of Management by

Objectives was propounded by
(A) Maslow
(B) Peter Drucker
(C) Herzberg

(D) Henry Fayol

156. First University in the country that

started M.Lib.Sc. is
(A) University of Madras

61,

(B) University of Delhi
(C) SNDT Women University,
Bombay

(D) Aligarh Muslim University

157. RajaRamMohan Roy Library Foundation

established by
(A)
(B)
(C)
(D)

Ministry of Rinance
Ministry of ‘Befense
Ministry of Culture

Ministry of Human Resource
Development

-36-

138.

159.

160.

162.

.
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Who is considered as the father of the
classical school ?
(A) Chester Barnard
(B) Urwick
(C) Max Webber
(D) Henry Fayol

Which law of library science emphasis
on library working hours ?

(A) First Law
(B) Second Law
(C) Third Law
(D) Fourth Law

Douglas McGregor is known for the
(Ay>Two Factor Theory

(B) Theory of Leadership
*(C) Management Grid

(D) Theory X & Theory Y

The person associated with public library
movement in the State of Baroda

(A) Balaji Baji Rao

(B) Shambhaiji Rao

(C) Maharaja Sayaji Rao Gaikwad
(D) Shivaji

In Delivery of Books Act in India was
passed in the year

(A) 1955
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155.

156.

157.
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Ty T o

T 5T 1|

(A) UNESCO

(B) FID

(C) OCLC
(D) IFLA

T & Y9 i GeheaT Bl

wfcfe = )
(A) HTAT

(B) diet g
(C) sfent

(D) & wEI

. fore. |EE 1 3Ry FeaTern S &
Ty fovafaames &

(A) FFaEfdd s ngm

(B) IFafid 31w faeeht ‘
(C) w.G1EE. o e, S
(D) it Bfec THIRA
_ gR e e T
(A) T Tarers |

(B) &N HHAeH

(C) HeHfd Hamer

(D) 9Ma qEeF g 93w

158.

159.

160.

Vist.

162.
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el e = fiar e wer s & 7
(A) =T sHTE

(B) 3fd=

(C) B s

(D) &I FATeA

TEehicrd fasH &1 -1 fam qeasher
FFA T WA E ?

(A) wuw f=m
(B) & frm
(C) drew fam
(D) <hefiEm

e BT F feru s

B) 9 fagma

(C) v firs

(D) Togra X 37r firgra v

S T H WSS Jeaehierd iiaier §
&1 aferd 2

NEIREIEIEIRES

(B) STt T

(C) HRWIST TS & MaFdls

(D) TS

Qiehi bl gga-t il e § ad
T it fermm |

(A) 1955

(B) 1954

(C) 1956

(D) 1957

-
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164.

165.

166.

167.
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Who stated “the best reading for the
largest number at the least cost” ?

(A) Melvil Dewey
(B) C. A. Cutter
(C) Maslow

(D) Ranganathan

‘Indian Books in Print’ is a
(A) National Bibliography
(B)

(C)
(D)

Trade Bibliography
Subject Bibliography
International Bibliography

Visual representation of the spread or
distribution of data is known as

(A) Check Sheets
(B)
(C)
(D)

Scatter diagram
Histogram
Control Chart

Which of the following is meta se(

engine ? \
(A) '
(B)
(C)
(D)

Dogpile
Internet explorer
Google Chrome

Yahoo

N

4

INSPEC databasering
(A) Physics a gineering
(B) Agriculture

(C) Chemistry
(

D) Education

[
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168. Association of Special Libraries and

Information Bureaux (ASLIB) is the
special library of

(A) USA

(B) UK

(C) India
)

(D) France

169. The service that keeps its users well

1%

informed and up-to-date with current
literature of their field of basic interest
is known as

(A) Ab

(B) Culyent awareness service

ting service

(C) dexing service

Translation service

hich of the following is the oldest and

é largest association in the world ?

T,

(A)
(B)

Indian Library Association

Association of Special Libraries and

Information Bureau
(C) International Federation of Library

Associations and Institutions

(D) American Library Association

Paul Otlet and Henri La Fontaine were
instrumental in the establishment of

(A) FID
(B) IFLA
(C) UBC
(D) UAP


https://www.freshersnow.com

it

163.

164.

165.

166.

167.
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"2 iHd W AT g % fie

garad g fere et ?

(A) Hfeaer e

B) f&. T Fx

(C) wreal

(D) THRA

(A) TS Teraeeh

(B) AR TLIH

(C) Torwar T

(D) AU T

AT h HerTal A1 Feraen a1 gva SegfoieR
FHET ¢ |

(A) = it
(B) f&au sm@
(C) 3mra o=
() T =

R

o i 4w e v g 0

e

(A) ErTITEA

(B) T AT
(C) et M
(D) 31§
INSPEC grere™
FAE |

(A) shifeeht 3 bR
(B) FY

(C) T&rH fogm

(D) fomam

1 IMEd

168.

169.

170.

171.
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THIRIUIE AT e A

U $HIUYH S (ASLIB)

i1 fory qeaerre ¢ |

% U1 S ST ¥ % 3T &
A TfEe | Y i giud 31
I ER G A

(A) TRIQH
(B) WHGA SITEaFaT T
(C)- i Tl

(DY FaTE A

Trafafea § @ S- fava 6 waifs

U SR S TG © 7

(A) 3fea amgsdl vEfieeH

(B) THITHUYE A1 WY RIS Ug
THATH

(C) T P T TITgsH! TRITUT

(D) 3mfteR Tt UEfiTe=

Tiet 3Tiecie 3T 2R &1 Bl
I TG § ITROT 9 |

(A) FID
(B) IFLA
(C) UBC
(D) UAP

-
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172. Original scientific paper, describing new

research, techniques or apparatus is
termed as

(A) Secondary Sources
(B) Tertiary Sources
(C) Primary Sources
(D) None of the above

173. A publication which is issued annually

for the purpose of current information in
narrative statistical or directory form is
known as

(A) Dictionary
(B) Year book
(C) Encyclopedia
(D) Handbook

174. National Union Catalogue of Scientific

Serials in India is
(A) Citation Database
(B) Statistical Abstract
(C) Union Catalogue
(D) Trend Report

&

qé.lirst

L

175. Dewey Decimal Classification

published in
(A) 1876
(B) 1877
(C) 1976
(D) 1872

N

4

176. Rules For a Dicti Catalogue was

published in 1

(A) S.R. Rs@anathan

(B) OCLC
(C) C.A. Cutter

(D) ALA

O

17T,

178.

179,
o

180.

181.

.’
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Shelf list is used for the purpose of
(A) Binding
(B) Classification
(C) Weeding out
(D) Stock verification

Who introduced Browne charging
method ?

(A) Ralph R. Shaw

(B) Bousfield

(C) Nina Browne
)

D @anathan
mQ%T isa

&)’ Library Consortia
T

) Library Classification
(C) Library Catalogue

(D) Indexing Service

Subject catalogue is a

(A) Catalogue of Subject entries
(B) Catalogue of Author entries
(C) Catalogue of Publisher entries

(D) Catalogue of Title entries

Which one of the following is not a
input device ?

(A) Keyboard

(B) Printer

(C) Mouse

(D) Touch screen
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173.

174.

175.

176.
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T STTHETH, Toh=11hi ST 3TN 3l TG0
AT el AT Sas

FEAT B |

(A) Tocfrrs g

(B) ek HId

(C) wTefieh @id

(D) I H ¥ IS Tl

T YRITH St difis 9 8 HATTCHS,
AT I1 SR % &9 § ST gal
% T § T R S R

FEAT & |

(A) IS

(B) SHIH

(C) THTgaRAifE
(D) T=TH

A H e 3 I ST argefe
Hifred 8

(A) TR S

(B) wiferh g

(C) T herarm

D) Je frae

24 ayTerd FriieRT Jeeh
H yenIfaTd feram 1 |
(A) 1876

(B) 1877

(C) 1976
(D) 1872

T JBShIgT

<

L

N

&

%%Qﬁmwmﬂ
TS |

(A) TH. IR, THEIA

(B) OCLC

()me

(D) A

177.

178.
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samtgd @ awEm
S # |

(A) e

(B) arfieRtur

(C) o3

(D) R HeATH

s =t fafer fopee s <6t 7
(A) T AR, ¥ﬁ

C):\“@-ﬁ

179. @EST@

) TEARIC T

8(8) NSEIGRENERY

180.

181.

(C) TEAHIEH AN

(D) eI Eell

Ty et

(A) T wfafei &1 shereim

(B) @ WAl &t e
(C) WehTe Tfafseat 1 ket
(D) ¥fve ufafeedi =1 Feraim

frforfiaa & & -8 o 39 feamsw
TR ?

(A) e

(B) fue

(C) H13™9

D) 9 &M
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182. Reference service is the “process of

establishing right content between a
reader and his document in a personal
way” is stated by

(A) Wyer

(B) H.P.Luhn

(C) S.R. Ranganathan
(D) Dennis Grogan

183. Library Exhibitions are considered as

one of the form of

(A) Initiation of freshman
(B) Extension service
(C) Technical service

(D) Current awareness service

184. Employing persons to work in an

organization to fit into positions with a

well defined job description is called~

(A) Recruitment
(B) Coaching
(C) Deployment
(D) Induction

185. Karnataka Public Library. Act was

enacted in the year
(A) 1965
(B) 1967
(C) 1979
(D) 1960

-42-

186.

187.

188.

189.

190.
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Referral service is

(A) Direct user to a sources of
information

Helping reader in selection of right
book

The other name of Abstracting
Service

The other name of Indexing
Service

(B)
(C)

(D)

Lexicon refers to

(A) Bibliography

(B) Dictionary

(C) Encyclopedia

(D) Yearbook
Electronic documents are

(A) ~Collections of documents stored in
electronic form

Covers texts, images, audio-visual
materials only

Electronically available Science
and Technology Information only

Collections of documents

®B)
(C)

(D)

The ability to recognize when information
is needed and have the ability to locate,
evaluate and use effectively the needed
information is known as

(A) Computer Literacy
(B) Media Literacy
(C) Digital Literacy
(D) Information Literacy

A programme or a set of instruction
used on a computer system for data
processing is called

(A) Hardware
(B) Software

(C) Computer
(D) Modem
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183.

184.

185.

Hexl ¥ “ ‘v fist al & T T ik
30 TETaS o ofte ge gt Tenfud e
IR iE o R T e T |

(A) deR
(B) T Wt g
(C) TH. AR, THIEA

(D) 2@ A

RASEARRRCHE] 1 U &9
T} ST & |

(A) ST St YR

(B) foreamor ¥

(C) aeRreht T

(D) THEMEh SRR Ha

e guieIia & faaer & ay fefoa o
TEt taT o fore ueh Ea § |t A
W FEAie | ‘
(A) et

(B) hifem

(C) Rt B feprer

(D) Smfd ST

Feficeh S JRIshICTd-SHelad i o
¥ e e

(A) 1965

(B) 1967

(C) 1979

(D) 1960

186.

187.

188.
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(A) SRR & HiE g % A 9

(B) T T&sh T 1 WIS o mETIaT

(C) I Wl 1 3121 1]

(D) TR Hal 1 2 AW

dadied . aweflaR)

(A) TRl

(B) g

(C) THTEERAIfea

(D) $H

SO CET & |

(A). ‘ot w9 wigiia s
Tehe

{B) 3 ¥ae wrad, o, worfo wand
AR

~ (C) et et B & 3uee s 3

189.

190.

ehrTeh e
(D) SEATSSI % HeheH

AT I ARG F 2, T U
&1 A1 9 A AT B G AT,
TR T A I Y & T F A
qgd_ Fed |

(A) eI HIEH

(B) wifean wawar

(C) fesitea weran

(D) G TERa

HATheT JEER & fofe U Frawr quistt
R YgFd e U qgea A Avan

FETATE |
(A) BTEaT
(B) WM
(C) IR
(D) wiew
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192.

193.

194.

195.
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Mnemonics meant
(A) To remember
(B) Isolate
(C) Redundancy
(D) Specials

What is internet ?

(A) Local area network

(B) Metropolitan area network

(C) A physical layer device

(D) Network of network, scattered all
over the world

Notation system in UDC is
(A) Linear Notation

(B) Mixed Notation

(C) Pure Notation

(D) Plane Notation

A Firewall (
(A) Rejects access requests from,,
unsafe sources )

(B) Allow access requests frém ‘any
sources

(C)
(D)
In the context of information'search,
‘AND’, 'OR’ and ‘NOT" are

(A) Productive

(B) Additive

(C) Logical difference

(D) Operators in searching

Switching system
Internet standard for ifférmation

196.

197.

198.

1199.

200.

o
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In the acronym ‘POSDCORB’, the leue:
‘P’ stands for

(A) Project
(B) Programme
(C) Planning
(D) Position

If a library budget does not take into
account of what happened in the
past but emphasizes on the current
activities is

(A) PPBS

(B) Zero Based Budgeting

(C) Perfermance Budgeting

(D) -Formula Budgeting

Which is/are not the part of ISBN ?

{A) Group Identifier

(B) Check Digit

(C) Link Digit

(D) Publisher Prefix

Which of the following is/are the book
selection tools ?

(A) Publishers catalogue
(B) Book sellers list

(C) National Bibliographies
(D) All of the above

Dichotomy refers to

(A) Division into five
(B)
()
(D)

Division into four
Division into six
Division into two
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191.

192.

193.

194.

195.

M wad 2
(A) I HEHT
(B) 9 1
(C) Tawslran
(D) fasm

AT ?

(A) W URET Jeash

(B) Hemifere din Yeas

(C) T ferh T Iuator

(D) Torva s 3 Yot Jeaen! =1 Heas

UDC # 37a yorreft 2
(A) e 3t

(B) Tfdm 3=

(©) TG ¥

(D) HHaH 3

Teh BRETA

(A) e e 35 gy

areefiepa s

(B) Forelt oft B & e 6 st epredhiopa
TR

(C) f=fEm yoreht
(D) =T &G WA TR

o1 @it % Hed HAND’, ‘OR’ 3iit
‘NOT' 2

(A) 3R

(B) Inmeds

(C) afeheh 3T

(D) @ ¥ uf=res

196.

197.

198.
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TETIER ‘POSDCORB'’ ¥ 3181 ‘P!
IR |

(A) TSt
(B) W
(C)
(D) itsE

e U TRIICT So1e 35! GLaTE el oheell
o6 el 3 o gom R dmm wfafafer wsi
Cad

(A) PPBS

(B) T amufid st

(C)Fsares st

(D) T

- ISBN & T i & ?

) (A) TR TeEHE

199.

200.

(B) T 3T
(C) fore o
(D) YeHIvH ITEt

frefafaa 3 8 #9-3 g =
YU E 7

(A) TERTSTR HeTAT
(B) Fecreh fershert =l
(C) U TyTF
(D) 3% ® Y asht
SRR ¥ Hefifd 3
REEREEISE
(B) =R H 9
(C) B: 1 faweE
(D) 3 fanyrem
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13.

14.

15.

17.

18.

19

-
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IMPORTANT INSTRUCTIONS TO CANDIDATES

sufigari & forg wewagut srRw

This booklet contains 48 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

.| Wrong Method

O®0O0

Wrong Method

0g 00

Wrong Method

@00

Correct Method|

CeQO0

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each ‘

question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C onD."If
you blacken (@) more than one circleagainst

any one question, the answer will betreated
as wrong.

In case of any discrepancy_hétween the
English and Hindi versions\ohany question,
the English version will be_treated as final/
authentic.

Use the space for Fough work given in the
Question Booklet dnly and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

13.

14.

15.

16.

| TS

18.

19

34 qftaa 4 48 U9 2|

e« TS e 3T RS AR FUA & 91
IR I AU [ HU IR T § | Tedsh g
¥ 9! feRHl U I 1 B S W I WA I
< JYET % B T HL 3N ATIH! I girehT d
394 AR @H A, B, C 31 D i e a1 e
AA-U5< 0§ Her (@) HT 7 | (feeatia
sufigan & o wa memsnr fafvs g
Tt e )

I for@ aaﬁﬁﬁmﬁém@@ﬁ%ma%
Rerifrdat 1 T e A R 2

g
\O® 00

Tl T
Og00

TeTd Al
O®00

EERGHED
ol Jole)

“S1eeff Rl 39T I A | faEn & 3w

fafa % =nfzu |

T Y% 1 had TF @ Gel I | ST
Tyfad Hiem 3127q A, B, C 1 D & TR @H
%! w1 (@) FET 2 | Jfe 3T fRet wva & m

U Qs MR @ W (@) o 3

I AT T SR |

afe ferdt v & &=l aur R s # A
3 B A IS I B E FE HHH T |

Fed HA o o0 haet 7 93 5 fou ™ wem @
T W | IR GfEdR T el HE A R

T FETeRT o TGt SATIR! ITR 3ifeRd TE FH 2 |
I el IR Ui | A 3

Go through instructions given in Page No. 1 (Facing Page)
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